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A certain number of persons are 
sitting in the row. All of them are 
facing towards north. Q sits sixth from 
the right of S. T sits forth to left of Q. 
Only two persons sit between Q and 
P. R sits forth to the left of S. U sits 
between S and T. V sits second to 
the right of U. W is third from any of 
the end. S is eight from the left end of 
the row. Six persons sit between W 
and V.
पंक्ति में एक क्तिक्तित संख्या में व्यक्ति बैठे हैं। उि 
सभी का मुख उत्तर की ओर ह।ै Q, S के दाएँ से 
छठे स्थाि पर ह।ै T, Q के बाएँ से चौथे स्थाि 
पर ह।ै Q और P के बीच केवल दो व्यक्ति बैठे 
हैं। .W ककसी भी छोर से तीसरे स्थाि पर ह।ै S 
पंक्ति के बाएँ छोर से आठवें स्थाि पर ह।ै W 
और V के बीच छह व्यक्ति बैठे हैं।
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A certain number of persons are 
sitting in the row. All of them are 
facing towards north. Q sits sixth from 
the right of S. T sits forth to left of Q. 
Only two persons sit between Q and 
P. R sits forth to the left of S. U sits 
between S and T. V sits second to 
the right of U. W is third from any of 
the end. S is eight from the left end of 
the row. Six persons sit between W 
and V.
How many numbers of persons could 
sit in the row?
(a) 14
(b) 18
(c) 23
(d) 15
(e) 20
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A certain number of persons are 
sitting in the row. All of them are 
facing towards north. Q sits sixth from 
the right of S. T sits forth to left of Q. 
Only two persons sit between Q and 
P. R sits forth to the left of S. U sits 
between S and T. V sits second to 
the right of U. W is third from any of 
the end. S is eight from the left end of 
the row. Six persons sit between W 
and V.
What is the position of ‘W’ with 
respect to Q?
(a) Fourth to the right
(b) Fifth to the right
(c) Fourth to the left
(d) Eighth to the right
(e) Sixth to the left
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A certain number of persons are 
sitting in the row. All of them are 
facing towards north. Q sits sixth from 
the right of S. T sits forth to left of Q. 
Only two persons sit between Q and 
P. R sits forth to the left of S. U sits 
between S and T. V sits second to 
the right of U. W is third from any of 
the end. S is eight from the left end of 
the row. Six persons sit between W 
and V.
If X sits immediate right of V then 
how many persons sit between X and 
P?
(a) Five
(b) Six
(c) Four
(d) Three
(e) None of these



@Reasoningbybasantsir

Statements: 

A ≥ B ≥ C = D > E ≤ F < G

Conclusions: 

I. E < B
II. G > E

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II 
follows.
(e) If both conclusions I and II follow.
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Statements: 

P ≤ R < T = U ; Q ≥ T ≤ S ≥ V

Conclusions: 

I. Q > P
II. V < R

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II 
follows.
(e) If both conclusions I and II follow.
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Statements: 

L > M = O ≥ P ; N ≤ M ≥ S ≥ T

Conclusions: 

I. T ≤ P
II. N < L

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II 
follows.
(e) If both conclusions I and II follow.
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R 
O G @ 2 I B 2 U &

Which of the following element is 
sixth to the left of the fourteenth from 
the left end of the given 
arrangement?
क्तिम्नक्तलक्तखत में से कौि सा तत्व दी गई व्यवस्था 
के बाएं छोर से चौदहवें के बाईं ओर छठा ह?ै
(a) 6
(b) %
(c) $
(d) M
(e) None of these
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R 
O G @ 2 I B 2 U &

If all the symbols are dropped from 
the series, which element will be 
twelfth from the right end?
यकद श्रंखला से सभी प्रतीक हटा कदए जाएं, तो 
कौि सा तत्व दाएं छोर से बारहवा ंहोगा?
(a) 9
(b) Q
(c) R
(d) Y
(e) None of these
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R 
O G @ 2 I B 2 U &

How many such numbers are there in 
the given series which are 
immediately preceded by a symbol 
and followed by a letter?
दी गई श्रंखला में ऐसी ककतिी संख्याएँ हैं 
क्तजिके ठीक पहले एक प्रतीक और ठीक बाद 
एक अक्षर ह?ै
(a) None
(b) One
(c) Two
(d) Three
(e) Four
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R 
O G @ 2 I B 2 U &

How many such letters are there in 
the given series which are 
immediately preceded by number and 
immediately followed by a symbol?
दी गई श्रंखला में ऐसे ककति ेअक्षर हैं क्तजिके 
ठीक पहले एक संख्या और ठीक बाद एक प्रतीक 
ह?ै
(a) One
(b) Two
(c) Three
(d) More than three
(e) None of these
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R 
O G @ 2 I B 2 U &

Find the odd one out?
क्तवषम चुिें?
(a) N64
(b) D86
(c) Y%8
(d) R27
(e) 8EL



@Reasoningbybasantsir

Nine friends Sunil, Riya, Jai, Madhu, Paul, Jaya, 
Sourav, Amar, and Malavika are sitting around a 
circular table with equal distance between them 
but not necessarily in the same order. All of 
them are facing away from the center. Malavika
is not an immediate neighbor of Sourav and 
Riya. The person who is sitting immediately left 
of Paul is sitting third to the right of Amar. One 
person sits between Sourav and Riya. Jai sits 
second to the left of Sourav. Sourav is an 
immediate neighbor of Amar. Riya is not 
adjacent to Paul. Jai sits fourth to the right of 
Sunil. Madhu is not an immediate neighbor of 
Sourav and Sunil.
िौ दोस्त सुिील, ररया, जय, मधु, पॉल, जया, सौरव, अमर 
और मालक्तवका एक गोलाकार मेज के चारों ओर बठेै हैं, उिके 
बीच समाि दरूी ह ैलेककि जरूरी िहीं कक इसी क्रम में हों। 
उि सभी का मुख कें द्र से क्तवपरीत कदशा की ओर ह।ै 
मालक्तवका, सौरव और ररया की क्तिकटतम पडोसी िहीं ह।ै 
वह व्यक्ति जो पॉल के ठीक बायीं ओर बैठा ह,ै वह अमर के 
दायें से तीसरे स्थाि पर बैठा ह।ै सौरव और ररया के बीच एक 
व्यक्ति बैठता ह।ै जय, सौरव के बायीं ओर दसूरे स्थाि पर 
बैठा ह।ै सौरव, अमर का क्तिकटतम पडोसी ह।ै ररया, पॉल के 
बगल में िहीं ह।ै जय, सुिील के दायें से चौथे स्थाि पर बैठा 
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Nine friends Sunil, Riya, Jai, Madhu, Paul, Jaya, 
Sourav, Amar, and Malavika are sitting around a 
circular table with equal distance between them 
but not necessarily in the same order. All of 
them are facing away from the center. Malavika
is not an immediate neighbor of Sourav and 
Riya. The person who is sitting immediately left 
of Paul is sitting third to the right of Amar. One 
person sits between Sourav and Riya. Jai sits 
second to the left of Sourav. Sourav is an 
immediate neighbor of Amar. Riya is not 
adjacent to Paul. Jai sits fourth to the right of 
Sunil. Madhu is not an immediate neighbor of 
Sourav and Sunil.
Who sits exactly between Riya and Malavika?

1) Sunil
2) Jai
3) Jaya
4) Madhu
5) Paul
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Nine friends Sunil, Riya, Jai, Madhu, Paul, Jaya, 
Sourav, Amar, and Malavika are sitting around a 
circular table with equal distance between them 
but not necessarily in the same order. All of 
them are facing away from the center. Malavika
is not an immediate neighbor of Sourav and 
Riya. The person who is sitting immediately left 
of Paul is sitting third to the right of Amar. One 
person sits between Sourav and Riya. Jai sits 
second to the left of Sourav. Sourav is an 
immediate neighbor of Amar. Riya is not 
adjacent to Paul. Jai sits fourth to the right of 
Sunil. Madhu is not an immediate neighbor of 
Sourav and Sunil.
What is Madhu’s position with respect to Paul?

1) Immediate right 
2) Immediate left
3) Second to the right
4) Second to the left
5) Third to the right
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Nine friends Sunil, Riya, Jai, Madhu, Paul, Jaya, 
Sourav, Amar, and Malavika are sitting around a 
circular table with equal distance between them 
but not necessarily in the same order. All of 
them are facing away from the center. Malavika
is not an immediate neighbor of Sourav and 
Riya. The person who is sitting immediately left 
of Paul is sitting third to the right of Amar. One 
person sits between Sourav and Riya. Jai sits 
second to the left of Sourav. Sourav is an 
immediate neighbor of Amar. Riya is not 
adjacent to Paul. Jai sits fourth to the right of 
Sunil. Madhu is not an immediate neighbor of 
Sourav and Sunil.
Four of the following five are alike in a certain 
way and form a group. Which one of the 
following does not belong to that group?

1) Jaya, Madhu
2) Jai, Paul
3) Madhu, Malavika
4) Paul, Riya
5) Paul, Sunil
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Nine friends Sunil, Riya, Jai, Madhu, Paul, Jaya, 
Sourav, Amar, and Malavika are sitting around a 
circular table with equal distance between them 
but not necessarily in the same order. All of 
them are facing away from the center. Malavika
is not an immediate neighbor of Sourav and 
Riya. The person who is sitting immediately left 
of Paul is sitting third to the right of Amar. One 
person sits between Sourav and Riya. Jai sits 
second to the left of Sourav. Sourav is an 
immediate neighbor of Amar. Riya is not 
adjacent to Paul. Jai sits fourth to the right of 
Sunil. Madhu is not an immediate neighbor of 
Sourav and Sunil.
How many persons are sitting between Sourav
and Sunil when counted from the left of Sunil?
1) 2
2) 3
3) 4
4) 5
5) None of these
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Nine friends Sunil, Riya, Jai, Madhu, Paul, Jaya, 
Sourav, Amar, and Malavika are sitting around a 
circular table with equal distance between them 
but not necessarily in the same order. All of 
them are facing away from the center. Malavika
is not an immediate neighbor of Sourav and 
Riya. The person who is sitting immediately left 
of Paul is sitting third to the right of Amar. One 
person sits between Sourav and Riya. Jai sits 
second to the left of Sourav. Sourav is an 
immediate neighbor of Amar. Riya is not 
adjacent to Paul. Jai sits fourth to the right of 
Sunil. Madhu is not an immediate neighbor of 
Sourav and Sunil.
Who is sitting third to the left of Madhu? 
1) Sourav
2) Sunil
3) Riya
4) Jaya
5) Jai
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Eight persons V, H, R, D, A, J, S, and 
I. All of them are sitting in a straight 
line facing south. D is second to the 
left of H. S is third to the right of R. 
Only one person sits between I and 
R. A is on the left side of J. Only 2 
persons sit on the right side of I. V is 
not an immediate neighbour of R or 
D. H is fourth to the left of S.

आठ व्यक्ति V, H, R, D, A, J, S, और I हैं। 
सभी एक सीधी पंक्ति में दक्तक्षण के सम्मखु बैठे 
हैं। D, H के बाईं ओर दसूरे स्थाि पर बैठा ह।ै 
S, R के दाईं ओर तीसरे स्थाि पर ह।ै I और R 
के बीच में एक व्यक्ति बैठा ह।ै A, J के बाईं ओर 
बैठा ह।ै I के दाईं ओर केवल 2 व्यक्ति बैठे हैं। V, 
R या D का क्तिकटतम पडोसी िहीं ह।ै H, S के 
बाईं ओर चौथे स्थाि पर ह।ै
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Eight persons V, H, R, D, A, J, S, and 
I. All of them are sitting in a straight 
line facing south. D is second to the 
left of H. S is third to the right of R. 
Only one person sits between I and 
R. A is on the left side of J. Only 2 
persons sit on the right side of I. V is 
not an immediate neighbour of R or 
D. H is fourth to the left of S.

If S and D face north, then who will sit 
third to the left of D?
1) V
2) S
3) R
4) A
5) H
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Eight persons V, H, R, D, A, J, S, and 
I. All of them are sitting in a straight 
line facing south. D is second to the 
left of H. S is third to the right of R. 
Only one person sits between I and 
R. A is on the left side of J. Only 2 
persons sit on the right side of I. V is 
not an immediate neighbour of R or 
D. H is fourth to the left of S.

Who is sitting fourth to the left of V?
1) R
2) I
3) H
4) A
5) D



@Reasoningbybasantsir

Eight persons V, H, R, D, A, J, S, and 
I. All of them are sitting in a straight 
line facing south. D is second to the 
left of H. S is third to the right of R. 
Only one person sits between I and 
R. A is on the left side of J. Only 2 
persons sit on the right side of I. V is 
not an immediate neighbour of R or 
D. H is fourth to the left of S.

Who sits third to the left of J?
1) A
2) V
3) S
4) R
5) H
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Eight persons V, H, R, D, A, J, S, and 
I. All of them are sitting in a straight 
line facing south. D is second to the 
left of H. S is third to the right of R. 
Only one person sits between I and 
R. A is on the left side of J. Only 2 
persons sit on the right side of I. V is 
not an immediate neighbour of R or 
D. H is fourth to the left of S.

How many persons sit between R 
and D?
1) Three
2) Two
3) One
4) Zero
5) More than three
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Eight persons V, H, R, D, A, J, S, and 
I. All of them are sitting in a straight 
line facing south. D is second to the 
left of H. S is third to the right of R. 
Only one person sits between I and 
R. A is on the left side of J. Only 2 
persons sit on the right side of I. V is 
not an immediate neighbour of R or 
D. H is fourth to the left of S.

How many persons are sitting to the 
right of S?
1) One
2) Two
3) Three
4) More than three
5) None
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There are six members in the family 
of three generation. A is father of D, 
who is grandson of B. The gender of 
A and B is same. F is brother-in-law 
of E. F is the paternal uncle of C, who 
is married to A. D is a male member.

तीि पीढी के पररवार में छह सदस्य हैं। A, D 
का क्तपता ह,ै जो B का ग्रैंडसि ह।ै A और B का 
ललंग समाि ह।ै F, E का ब्रदर-इि-लॉ ह।ै F, C 
का पैटरिल अंकल ह,ै जो A से क्तववाक्तहत ह।ै D 
पुरुष सदस्य ह।ै
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There are six members in the family 
of three generation. A is father of D, 
who is grandson of B. The gender of 
A and B is same. F is brother-in-law 
of E. F is the paternal uncle of C, who 
is married to A. D is a male member.

How is E related to C?

1) Mother
2) Sister-in-law
3) Father
4) Uncle
5) None of the above
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There are six members in the family 
of three generation. A is father of D, 
who is grandson of B. The gender of 
A and B is same. F is brother-in-law 
of E. F is the paternal uncle of C, who 
is married to A. D is a male member.

How is D related to E?
1) Grandmother
2) Uncle
3) Grandson
4) Sister
5) None of the above
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Eight persons A, B, C, D, E, F, G and 
H have different ages (in years) 
among 15, 30, 31, 38, 42, 45, 50, 51 
but not necessarily in same order. 
Number of persons born before H is 
equal to number of persons born after 
E. A is younger than C. F is 1 year 
elder than B. G's age is multiple of 7. 
D is 45 years old.

आठ व्यक्ति A, B, C, D, E, F, G और H की
अलग-अलग आयु (वषों में) 15, 30, 31, 38, 
42, 45, 50, 51 के बीच ह ैलेककि जरूरी िहीं 
कक एक ही क्रम में हो। H से पहले जन्मे
व्यक्तियों की संख्या E के बाद जन्म लेिे वाले 
व्यक्तियों की संख्या के बराबर ह।ै A, C से 
छोटा ह।ै F, B से 1 वषष बडा ह।ै G की आयु 7 
का गुणक ह।ै D की आयु 45 वषष ह।ै
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Eight persons A, B, C, D, E, F, G and 
H have different ages (in years) 
among 15, 30, 31, 38, 42, 45, 50, 51 
but not necessarily in same order. 
Number of persons born before H is 
equal to number of persons born after 
E. A is younger than C. F is 1 year 
elder than B. G's age is multiple of 7. 
D is 45 years old.

B is ________ years old.

1) 15
2) 38
3) 50
4) 30
5) 31



@Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G and 
H have different ages (in years) 
among 15, 30, 31, 38, 42, 45, 50, 51 
but not necessarily in same order. 
Number of persons born before H is 
equal to number of persons born after 
E. A is younger than C. F is 1 year 
elder than B. G's age is multiple of 7. 
D is 45 years old.

Which of the following statement is 
definitely correct?
1) E is 51 years old
2) A is elder than F
3) Only two persons are elder than 
G
4) H is elder than A
5) All are correct



@Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G and 
H have different ages (in years) 
among 15, 30, 31, 38, 42, 45, 50, 51 
but not necessarily in same order. 
Number of persons born before H is 
equal to number of persons born after 
E. A is younger than C. F is 1 year 
elder than B. G's age is multiple of 7. 
D is 45 years old.

What is the difference in the ages of 
E and H?
1) 40
2) 33
3) 45
4) 36
5) 23
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Eight persons A, B, C, D, E, F, G and 
H have different ages (in years) 
among 15, 30, 31, 38, 42, 45, 50, 51 
but not necessarily in same order. 
Number of persons born before H is 
equal to number of persons born after 
E. A is younger than C. F is 1 year 
elder than B. G's age is multiple of 7. 
D is 45 years old.

How many persons are elder than F?
1) Five
2) Three
3) Two
4) Four
5) Six
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Eight persons A, B, C, D, E, F, G and 
H have different ages (in years) 
among 15, 30, 31, 38, 42, 45, 50, 51 
but not necessarily in same order. 
Number of persons born before H is 
equal to number of persons born after 
E. A is younger than C. F is 1 year 
elder than B. G's age is multiple of 7. 
D is 45 years old.

Whose age is 50 years?
1) B
2) C
3) A
4) E
5) F
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